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 G(ϕ) = Gmax – 2.5 × 10–3 
2








 ϕ
λ

D
                dBi for     0  <  ϕ <  ϕm 

 G(ϕ) = G1  for  ϕm  ≤ ϕ  <  ϕr 

 G(ϕ) = 29 – 25 log ϕ                dBi for   ϕr  ≤ ϕ <  10° 
 G(ϕ) = 34 – 30 log ϕ                dBi for    10° ≤  ϕ <  34.1° 
 G(ϕ) = –12                dBi for 34.1° ≤  ϕ  <  80° 
 G(ϕ) = –7                dBi for    80° ≤  ϕ  <  120° 
 G(ϕ) = –12                dBi for  120° ≤  ϕ  ≤  180° 
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maxG                 dBi 

 
λ

  15 + 1 = D
G log– 1                 dBi 
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m − =ϕ λ
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D : =������ �&� (m) 

λ : ������ ��& (m)#  

2  1'��������?@� &&��� ��
��� �H
���� 2/��'��  K
 �%6 ������ ��� �� ��-�%� �6
�?@� &&��%� ��� ��3� �����
����+���B�$� ���� �������� �'6  MHz 150:  

2
1 )2( J

)( 






π
π=ϕ
x

x
GG
max

           (dB )4����� ���'3 
�'6  ��������<� 	�������
�  

D��: 
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π
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4 effA
 :   ���� *�3�+���%�)  ���'3 1'6 4����� ��������<� 	� ������
�  (dB 

Aeff  = π(D/2)2 : ��
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D : �&� =������ (m) 

λ : ������ ��& (m) 
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λ⋅
ϕ⋅⋅π
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 ((πD/2)/(180 · λ))2 
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150,05�153 44 

322�328,6 51 

406,1�410 53 

608�614 56 

1 400�1 427 63 

1 610,6�1 613,8 64 

1 660�1 670 65 

2 690�2 700 69 

5 000-4 990 74 
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10,6�10,7 81 

14,47�14,5 84 

15,35�15,4 84 

22,21�22,5 87 

23,6�24 88 

31,3�31,7 90 

42,5�43,5 93 
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Aeff = π(D/2)2 : =������ ���" ��
�� (m
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 D :  =������ �&�(m) 

 λ :  ������ ��&(m).  
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